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PRACTICE
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PRACTICE

1500 15000 =

050G 5 (moved 1 place)
= 3000

0.75

0.0025
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PRACTICE

1500 15000 =
0.5 9 (moved 1 place)

7. = 3000

%;5/ 256%?5‘

200
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U
« PEMDAS - "Please ExcuseCIVIy De%unt Sally”

http:// www.mathsisfun.com/operation-order-pemdas.html

« M&D rank equally, so go Lto R
-+ A&S rank equally, so go Lto R

Captured on Mon Aug 30 2010 11:05:31
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Order of Operation

 Third Rule:
» Simplification - Work inside outside
« Parenthesis ()

« Brackets []
+ Braces {}

194 A {[20 x E9-573|+ 14}j = 194 — {[20 x 4] + 14}

Captured on Mon Aug 30 2010 11:07:45
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Testing your Calculator

v
. 7+5*304:4
» If the answer Is 18, your calculator uses the
appropriate order of operations.

Captured on Mon Aug 30 2010 11:10:19
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Testing your Calculator

o /+5%3-24:4
» If the answer Is 18, your calculator uses the
appropriate order of operations.

Q_Lf: & k(’“" L'}'
6% - f‘f‘tﬁ :gZ,Z

> 2 -\ <l

Captured on Mon Aug 30 2010 11:10:45
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SESY
PRACTICE o 9

\D v(l

100 - {[10 x (6 J5*+25} 1
T

1289 — {[120 x (23 - 13)] + 4} =

.ﬁ‘é. '82—[34x(33—13)]+76=_

Captured on Mon Aug 30 2010 11:18:53
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PRACTICE

I
o

. 100 — {10 x (6 - 5)] + 25} = 65
s \DOD
120> 1D VD

1289 — {128 (23~ 13)] + 4 =_28S

.ﬁ‘é. '82—[34x(33—13)]+76=_

i 2513 = (D (7,&0‘[{
W | ooxDIl2po,  [000Hf s 1001
L

2 &5
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v
s
Bk o

B PRACTICE

ok

pL,
o

-
] "
v A

.. 100 — {[10 x (6 - 5)] + 25} = 65

{' 1289 — {[120 x (23 — 13)] + 4} =

' e \82-[34x(33-13)]+76
b ‘#’.—h‘-\

20 %% -1 5229
e - GRO 700 2 M o s L8O

@ _oNs ¥ 16 =542
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T4 pecimal & order, practice - Microsoft Word [ |[= |5
ormat Tools  Table  Window Help  Adobe PDF  Acrobat Comments Type a question For help = X
i) (T el savens.. (3 S5 7 W W [ < W N 3G 9 100% - @) | diRead W B

P A4 Mormal + Arial, -+ Avial

L)

WORKING WITH DECIMALS

1. 1.288@2.45 =

2. 0.38745 + 625.985 =

3.413-3.064 =

4.253.9-43.101 =

5.8.7X0.003 =

NS
Page 1 Sec 1 1z At 06" Lnl Cal L ReC| [TRe| [ExT| [ovr| | B3

Captured on Mon Aug 30 2010 11:30:48
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T pecimal & order practice - Microsoft Word |Z||E||X|

Insert  Format  Tools  Table ‘Window Help  Adobe PDF  Acrobat Comments Type a question For help = X

1 & = savesns.. |4 = |7 e W [« T RE N - - 4 B GE EE A ol 9 100% - (@) | GdRead (E
i A4 Mormal + Aridl, - Arial A aBlrfulgcElEs==ts. iz EE(H-2- A
G2

- T

—
RN RN TR 2

WORKING WITH DECIMALS

1. 1.2883 +32.45 =

O.3% T4 5
@z [L2S, A¥YS

Cplg,$72

2. 038745 + 625

——
-

3.413-3.064 =

4.253.9-43.101 =

5.8.7X0.003 =

H ©

Ln ol ReC| [TRe| [ExT| [ovr| | B3
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T4 pecimal & order, practice - Microsoft Word [ |[= |5
ormat Tools  Table  Window Help  Adobe PDF  Acrobat Comments Type a question For help = X
i) (T el savens.. (3 S5 7 W W [ < W N 3G 9 100% - @) | diRead W B

P A4 Mormal + Arial, -+ Avial

L)

WORKING WITH DECIMALS

1. 1.2883 +32.45 =

2. 0.38745 + 625.985 =

3.413-3.064 =

4.253.9-43.101 =

5.8.7X0.003 =

NS
Page 1 Sec 1 ReC| [TRe| [ExT| [ovr| | B3

Captured on Mon Aug 30 2010 11:33:36
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Tl Decimal & order practice - Microsoft Word |Z”E”X|

ormat Tools  Table  Window Help  Adobe PDF  Acrobat Comments Type a question For help = X
P e saveas.. (3 S =4 | & @

P A4 Mormal + Arial, -+ Avial

—
.

2. 0.38745 + 625.985 =

413 -3.064 = q’ O

.—-""_.’
. 253.9-43101=

. 8.7 X0.003 =

. 0.43 X 4000 =

.4800/0.12=

REC| [TRE| [EXT| [ovR| | G

Captured on Mon Aug 30 2010 11:34:38
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r @ | 4dRead

A | G0 9T 100%
== -9 A - B

-

e Window Help Adobe PDF  Acrobat Comments

I Decimal & order practice - Microsoft Word
A T I saveas.. (A S A | & L B [
Mormal + Arial, - Arial A Bz (ula e ==
T I A AR S

2. 0.38745 + 625.985 =

3.413-3.064 =
Q. |
.. 00

4. 253.9-43101 =

5.8.2X 0003 =

6. 0.43 X 4000 =

7.4800/012=
REC| [TRE| [EXT| [ovR| | G
Captured on Mon Aug 30 2010 11:34:54
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T Decimal & order practice - Microsoft Word |__|| = ||§|
able  Window Help Adobe PDF  Acrobat Comments Type a question For help = X
i) S | saveas.. [d | S o0 [ T RE e B 1] [ 5 | Q] 9 100% - @) | JHRead s 2

i A4 Mormal + Arial, - Arial = | A =

: |

2. 0.38745 + 625.985 =

3.413-3.064 =

4. 253.9-43101 =

L (7
5. 8.7 X 0.003 =

L]

6. 0.43 X 4000 =

7.4800/012=

REC| [TRE| [EXT| [ovR| | G

Captured on Mon Aug 30 2010 11:35:13
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T pecimal & order practice - Microsoft Word |Z||E||X|

Insert  Format  Tools  Table ‘Window Help  Adobe PDF  Acrobat Comments Type a question For help = X

1 & = savesns.. |4 = |7 e W [« T RE N - - 4 B GE EE A ol 9 100% - (@) | GdRead (E
i A4 Normal + Arial, - Arial A 4B =E==t=.|i=iC EEsE (- AN

7 |u|Q /=]

e e I 2

< 70000~ ( 3)*(%0&%
RS

—|
ol

- w

T e AR -

6. O.f 400_% =

7.4800/012=

11000

8. 0.88/0.023

1AM IRIAS TAATI P APIMAErm AF AREm AT AL
=@

Page 1 Sec 1 1z fik Ln ol ReC| [TRe| [ExT| [ovr| | B3
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T pecimal & order practice - Microsoft Word |Z||E||X|

Insert  Format  Tools  Table ‘Window Help  Adobe PDF  Acrobat Comments Type a question For help = X

1 & = savesns.. |4 = |7 e W [« T RE N - - 4 B GE EE A ol 9 100% - (@) | GdRead (E
A4 Mormal + Arial, - Arial A Bl EIEl=E==t=s. =iz E=E | FH- . A

I
—
— . — 4

- w

e Da OO_

7.4800/ 0\13= -

> ‘2t Y0000,
8.0.88/0.023 L‘@ (j?{ Z-(a

— _L'E\’DE*OOO

WORKING WITH ORDER OF OPERATION

1.50. X5.0-30=

-~ e~ —— T e

Page 1 Sec 1 1z fik Ln ol ReC| [TRe| [ExT| [ovr| | B3
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T Decimal & order practice - Microsoft Word |__||i||§|
pols  Table Window Help  Adobe PDF  Acrobat Comments Type a question For help = X
P S | saveas.. [A (& |57 8 WREEN ! L4 ] E == 4y | ol o0+ @) | JdRead .

44 Mormal + Arial, = Arial iIZ i =S H] -0 A B
1 -] -

—
[ T e A S T B S - S BN A

WORKING WITH ORDER OF OPERATION

1.50. X5.0-30=

—— T e

REC| [TRE| [EXT| [ovR| | G

Captured on Mon Aug 30 2010 11:40:28
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Eﬁ:i'.. Decimal & order pl'al:tin:e - Microsoft Word |__||i||§|
. ormat  Tools  Table Window Help  Adobe PDF Acrobat Comments Type a question for help = X
i) S | saveas.. [d | S W2 e _

P A4 Mormal + Arial, -+ Avial

- .
—

1. 50.X5.0 30 =

—20

2. 30

30 ) _HrO
3. 90 —-{[20. X (8.0-5.0)] + 15} =
4. 128 -{[12 X (3.0-13)] +18} =

5.50+10/2=

6.27+15/3 =

REC| [TRE| [EXT| [ovR| | G

Captured on Mon Aug 30 2010 11:42:23



20100830 1060.gwb - Monday, August 30, 2010 - Page 23 of 27

T Decimal & order practice - Microsoft Word |Z”E”X|

View Insert  Format  Tools  Table  Window Help  Adobe PDF  Acrobat Comments Type a question For help = X

1 5 |l savess.. [ VN REEN - e AR AN W E=:

A a (B2 (U2 v |[=|

e e I 2

et
i

| o] 9 00%  ~ @) | HdRead &y

E = E B AL

P A4 Mormal + Arial, -+ Avial +

4
111

—
RN RN TR 2

- T

1.50. X5.0-30=

2.30-50. X 50=

) 2000 ﬁmow%@ﬂs)

20 X (8.0-5:0)] + 15} =
[P

4. 128—{[124513‘.6—13{]"'18}=
3{3 -3:==\ D) -
D -

—

| D
5.50+10/2= _}

—100+18:"F2

6.27+15/3 = IZMQ):Z'O
DAY

=]
Page 2 Sec 1 2f2 fik Ln ol ReC| [TRe| [ExT| [ovr| | B3
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Tl Decimal & order practice - Microsoft Word |Z”E”X|

ormat Tools  Table  Window Help  Adobe PDF  Acrobat Comments Type a question For help = X

P 5 I savess.. |3 = & |V E EWF e - -8 4 HRE GG T 0% o @ | GdRead s

P A4 Mormal + Arial, - Arial -4 .| A Em' e - EE |- A-B

A

-~
5.50+10/2= :)O—Pg
6.27 +15/3 =

7.342-90X20=

8.28—[4.0X (22— 11)] + 67 =

BE|E 8 <
Page 2 Sec 1 REC| [TR| ExT| [ovr| | 1B

Captured on Mon Aug 30 2010 11:50:58
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CE)X

Type a question for help = | X

Tl Decimal & order practice - Microsoft Word

ormat Tools  Table  Window  Help  Adobe PDF Acrobat Comments
P e saveas.. |3 2 (A |5 5 B o] O 100% v @ | HdRead (§,
i EEE-Y.A-B

P A4 Mormal + Arial, -+ Avial

)
5.50+10/2= —
3

6_ 2 D%

7.342-9.0X20= OT*OX 2.0 = \g
M1-1&82 32

8.28—[4.0X (22— 11)] + 67 =

REC| [TRE| [EXT| [ovR| | G
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T Decimal & order practice - Microsoft Word |ZI|E||X|

able  Window Help Adobe PDF  Acrobat Comments Type a question For help = X

i) S | saveas.. [d | S oW w0 T R E N e B 1] [ 5 | o] 9 00%  ~ @) | HdRead &y

i A4 Mormal + Arial, - Arial A 4 iIZ i =S H] -0 A B
il " |

—
A

5 50+10/2=

6.27+15/3 =

g9 L=+

7.342-90X20=

Gy

328—[4.0)((22—11!“6?:

s1

REC| [TRE| [EXT| [ovR| | G
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